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First : Choose the correct answer:

(1)

The probability of the occurrence of getting an number when
tossing a die once = ............

OFNOF () 4

6

(2) 4,03 (8) 4,3 (¢) 4,003 (D) 43

The isosceles trapezium has line (s) of symmetry.

(8)1 (8) 2 (®) 3 (0) 4

32,145-937/8 = ~ to the nearest thousand
(8) 23 thousand(B) 22 thousand(f) 21 thousand (0)20thousand

The decimal number that is between 0.35and 0.4 is

()05 (80,2 (¢) 0,39 (0) 0,45

(4) 69,01 (8) 69,001 (¢) 69 (D) 68,99

(1) 12 @) 15 () 72 (1) 100
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20.202-18.168 = O (to the nearest tenth)

4) 2,03 (8) 2 (¢) 2,034 M 2,3

a square whose side length 5cm is congruent to the square

whose perimeter is
() 5¢cm (B) 25cm () 20cm (D) 15cm

Thirty five and six tenths =
6 6
(4) 35.06 (8) 3SE (¢) 356 (D) 35%

the probability that the sun rise from the east is ............. :

(A) Possible (B) impossible (6) certain (D)

| 2678 ~ 3000 ( to nearest
(4) 1 (8) 10 (6) 100 (0) 1000

IfA ABC=AMON then: MO =
(1) AB (8) BC (€) AC (1) ON

The capacity of soft drink bottle
(4) 350 liters (B) 350 milliliters (¢) 10 liters (D) liters

The probability of the occurrence of the sure event = ............
(4) 0 (8) 05 ()1 (0) 2

the result: 1958 + 1000 =
(4) 1,958 (8) 19,58 (6) 195,8 (0) 0,1958
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Second : Complete

(17)
(18)

(19)

(20)| The parallelogram has lines of symmetry.

(21)] 4225 + 10 ~ ... (to the nearest hundred)

(22) | 5 liters = milliliters .

Third : Solve the iollowing problems

(23 ) a box contains 5 red balls , 3white balls and 1 blak ball then

find the probability of each of the following :-
a- drawing a red ball is

b- drawing a white ball is

(24) Arrange in descending order :

%hours , 80 minutes , 240 seconds, %day , 120 minutes
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(26) The following table shows the money saved by Ahmed
during 4 months

Month 18t 2nd 3 4th

Money in L.E 30 45 40 25
a) Represent these data by histogram.

b) In which month did he saves the least?

30 ) in the opposite figure if A ABC = A KLM : Complete :

a)m_z ...................... .
B) AC = v /\ /\
L M B C

(Good tuck
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_First : Choose the correct answer:

(1)

48834 + 100 ~
(1) 488,34 (8) 48,834 (t) 48834 (1) 48834

(2)

i o ey 0

The probability of the appearance of getting a head when
tossing a coin once = .............

(8) 0 ® OR (0) 2

The rectangle has................... line (s) of symmetry.

(4) 1 (B) 2 (€)3 (1) 4

Number of line of Symmetry of square....... Number of angles
Of triangle

() < @) > ) = (1) Other

(4) 8 hr. (8) 9 hr. (¢) 10 hr. (0) 14 hr.

the value of 9 in 28.59 =
4) 0,9 (8) 9,90 (¢) 0,09 (p) 0,009
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(8) | A box contains 6 red balls and 3 white balls and 1 green
balls find the probability of Drawn ball is red

ws ®F O OF

(1) 53,022 () 5322  (6)53.22 () 5,322

Two triangles are congruent if corresponding sides are
(4) parallel (8) perpendicular (6) equal in length

4287 _

(A1)0042,87 (8) 4,287 () 428,7 (1) 0,4287

785 + 10 8000 = 100
() < (@) = ©) > (0) Other

150 ton = [1500 - 0,15 - 150000 or 1500]
(4) 0,15 (8) 1500 () 15000 (1) 150000

IfA ABC = ADEF then: BC =
(1) AB (8) DF (t) DE (0) EF

1 Kg.
() 50 () 5 (6) 500 (9) 5000

A box contains 4 blue balls , 2 red balls and 3 green ball if a
ball is drawn blindly probability of drawing a blue ball = 4

() 4 (B) 6 ©9 () 10
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Second : Complete
(17)] 12.78-3.5 = (To nearest 10)

(18)| The probability of appearance a tail when tossing a coin

(19)

(20) | 678963 + 1245678 = (To nearest 100000)

(21)| The colored part of the shape can be written

lines of symmetry.

Third : Solve the following problems

(23 ) For tossing a dice experiment find the probability of the following:

a. Getting upper face of even humbers = ..........cccccooveeriieninnns

b. Getting upper face of number (three) =

(24) Arrange in an ascending order ®

3.45 liters , 5000 militaries , 2 liters 4600 milliliters
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(25) [4] Draw a line of symmetry if possible for each figure below

(26) The following table shows the number of the students
practicing different sports .

Sports Foot ball | Basketball | Hand ball Vollyball
Number of the students 12 9 5 3

Represent the data by using histograms.




